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- Grey line: exponential fit Peak flux: 1.757+/- 0.582 c/s/cm? N
- Black line: power law + gauss fit Fluence : 19.47+/- 5.58 c/cm? ]
- Dashed line: power law o : ) n
C Duration: 36.89+/- 12.06 s ]
— Best fit model: 1. —
- Best fluence model: 1. -
; M Best duration model: 1. ]
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; Exponential fit é
= Expon.time: 13.70+/- 4.18 s (chi*red= 1.05) =
= TRTTERNI + | "
= ‘#**%Wﬁ% +ﬁmﬂ++wﬁH++Tﬂ+Hm+mHgﬂHﬂﬂHﬁ+mﬁ+@Hu#jﬁﬂﬁiﬁwﬁHﬂﬂwﬁﬁﬂWﬂwﬁﬂ++H+*ﬁﬂwHjﬁ@ﬁﬁﬁ#+H+ﬁﬁ+ﬁﬁ++ﬁﬂ+g@wﬁwMH*HHﬂmﬁwWﬁ%
= * =
; Power law fit é
E Power law index: -1.174+/- 0.297 (chi*-red= 1.05) =
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— Power law fit plus Gaussian (st.dev.= 13.76+/- 5.19 s, fracgs= 0.25+/- 0.24) =
= Power law index: -0.874+/- 0.957 (chi’-red= 1.05) 3
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